ALY

LAL*
L* | aBanDus=[IN[(A 10+ A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
L* \(3,6)=218 L* ,(18)=496,L* ,,(90)=772

LABJNDu3 standard lightnessL*
L* Ync L* HC_ ’

L* | aBanDuz=[IN[(A 1r+A2a)I(A 2nA0n)] (
L* \(3,6)=218,L* ,(18)=496,L* ,/(90)=772

Y,/ 100<Y<=Y,0)

log[L*/L*

/
L*90=771,96, A1 £7 ¢=0 ozo
Ai=0,403 application
range

L*1g=495,86, A=C
L*3,6°218, 081"~ 6,86 =1 ]
1,518

n
V=90

Y36

LABJINDu3
tristimulus value difference

Yoc=L*w - nc=100,

L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,c)

5
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon, Deb—l 5, Aon A=1,0, see CIE 230:2019
d¥95=0,55, Ay=1,500, ¢=0,67
dY;=0.13. A=0.017, Agn 0,0038

dY; 6=0,04 Y,=18, dY=0,13

L*,=496 dY,=0,13 dY,/Y,=0,0072, " ~

Yn=3.6  Yyw=90
log (AY/Y) LABJINDuU3
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

AY/Y=Agr[A 1 +ALYIY
(dY/Yy=0,0061, Ayl
(dY/Y)=0,0072, A =0 ,AZ 0, o
(dY/Y},0,0729 Y, 13 dY=0,13

~

log(dY/Y)F-2,1 ——O 18\ ~—
g(dY/Y)F—2,13 m, 1in- - e
L*,=496 dY,=0,13 dY,/Y,=0,0072
1
1
Y=18
Yw=90

Yn=3.6

LABJINDu3
tristimulus value contrast

YocmL*w - n=100,

log (Y/AY)
C,=(Y/AY)

YIAY=Y/[Agn(A1ntA2nY)]

(Y/dY 163,60, A=1,500, 6=0,67
=138,01, A,=0,017, ,=0,0038

(Y/dY)g=
(Y/dY F77 44 Y,=18, dY=0,13

L* =496 dY,=0,13 Y,/dY,=138

log(Y/dY)2,13 m;=0,18 _ -~
v // ‘
range
Y,=18

LABJINDuS3 relative standard lightnessL*/L* ,

YoceL*w - n™

L*og/L*=1,55, A=1,500, ¢=0,67
* glL* 20,017, A= 00038
L¥3,dL¥=0,43 L% =495,86 =1

log[L* /L* ,J=0, m,=0,33
application
range

Y,=18
Yy=90

Iog(AY/AY )

] INR=36

LABJNDuS3 relative
tristimulus value difference

INTNA Yoe=L*w - ne=100,
L* L aanDus=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)
dY/dY,=AgnA 11+AanYI/dY,
dYeo/dY,=4,21, Ay=1,500, ¢=0,67
dY;gdY,= 70,017, Az :o,oo
dY3 4dY,=0,35 Y,~18, dY=0,13

log [AYY) I (AYIY),]

L* Laganpua=[IN[(A 1n+A2nV)I/(A 20A0n)] (Yac/100<Y<=Y,o)

application

L* Laganpua=[IN[(A 1n+A2nV)I/(A 2nA0n)] (Yac/100<Y<=Y,o)

application

w=90

Yy=90

YN=3.6

LABJNDuS3 relative
tistimulus value sensitivit;
SISy =@YMIAYN), o dw S PR

L* L aBanDuz=[IN[(A 10+ A2 )I(A2nA0n)] (Yn/100<Y<=Y,0)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(dY/Ypo/(dY/Y)=0,84, Ay=1,500, ¢=0,67
(dY/Y%al(leY‘ =1,00, A,=0,017, A,=0,0038

(dYrY! vd(dY/Y‘i—,‘ 73 Y,=18, dY=0,13

log[(dY/YY(dY/Y)J=0, m=-0,18 1~ ~ "X _ __
*,=496 dY,;=0,13 dY,/Y,=0,007%  Zppication
1y,=18

Yy=90

YN=3.6

log [(Y/AY) I (YIAY),] LABJINDuS3 relative
tistimulus value contrast

CICU=(YIAVYI(YIAY), v el I
L* L aBanDuz=[IN[(A 1n+A2n)I/(A2nA0n)] (Yn/100<Y<=Y,0)

(YIAYYYIAY ), =(YIYIAY L)ITA on(Arnt AT (YY),
(YIAY Yo/ (Y/dY)=1,18, Ay=1,500, =0,67
(Y/dYYg/(Y/dY)=1,00, A=0,017, A,=0,0038
(Y/dY%d(Y/dY =0,56 Y,=18, dY=0,13

log[(Y/dY)(Y/d¥)J0, m=018 _ _

application
1 range

1y,=18
Yw=90




